

Tabulation Of Bids

Event # : 286

Name: Mobility Hub North Streetscape Improvements

Description:

This project is located at NW Flagler Ave from NW 4th Street to NW 5th Street, in the City of Fort Lauderdale. The work to be accomplished under this contract includes, but is not limited to, Milling, Landscaping, sidewalk, lighting, pavement markings, signage, bench, sod, curbing and fencing adjacent FEC railroad track. The award of any contract is subject to the requirements of financial assistance contracts between the Broward Metropolitan Planning Organization (hereinafter referred to as "the BMPO") and the U.S. Department of Transportation requiring compliance with purchasing procedures and standards as set forth in various federal statutes and regulations including 49 CFR Part 18, and the FTA Circular 4220.1F

Open Date: 07/10/2024 09:00:00 AM

Close Date: 08/22/2024 02:00:00 PM

Event Currency: USD

Supplier

Bid Amount 930,542.74

88,687.490

FG Construction LLC

2701 NW 55 Court Tamarac, FL 33309

Items

Item: MOBILIZA	ΓΙΟΝ		
Description: The lump su	Im price for this item shall be full compensation		
Unit of LS Measure:	Quantity: 850,000.0000		
	Quantity	Unit Price	Extended Amount

1.0000

Item: MAINTENANCE OF TRAFFIC-

Description: The lump sum price for this item shall be full compensation

FG Construction LLC

CAM #24-1126 Exhibit 2 Page 1 of 11

88,687.49

Unit of LS Measure:	Quantity: 1.0000		
	Quantity	Unit Price	Extended Amoun
G Construction LLC	1.0000	74,443.450	74,443.4
tem: CLEARING	& GRUBBING		
Description: The work sha	all consist of the removal and disposal of plant	S	
Unit of AC Measure:	Quantity: 0.2800		
	Quantity	Unit Price	Extended Amoun
	Quantity		
Item: REMOVAL (Description: Measuremen	0.2800 OF EXISTING CONCRETE, CO It of payment to remove and dispose of all existence		24,121.7
	0.2800 OF EXISTING CONCRETE, C	U	24,121.7
Item: REMOVAL (Description: Measuremen Unit of LF	0.2800 DF EXISTING CONCRETE, CU It of payment to remove and dispose of all exis Quantity: 200.0000	U sting	24,121.74
Item: REMOVAL (Description: Measuremen Unit of LF Measure:	0.2800 OF EXISTING CONCRETE, CO It of payment to remove and dispose of all existence	U	Extended Amoun
Item: REMOVAL (Description: Measurement Unit of LF Measure: FG Construction LLC Item: REMOVAL (0.2800 DF EXISTING CONCRETE, CU at of payment to remove and dispose of all exist Quantity: 200.0000 Quantity 200.0000 DF EXISTING CONCRETE	Usting Unit Price 16.970	Extended Amoun
Tem: REMOVAL (Description: Measuremen Unit of LF Measure: G Construction LLC	0.2800 DF EXISTING CONCRETE, CU at of payment to remove and dispose of all exist Quantity: 200.0000 Quantity 200.0000 DF EXISTING CONCRETE at of payment to remove and dispose of existing	Usting Unit Price 16.970	Extended Amoun
Item: REMOVAL (Description: Measuremen Unit of LF Measure: FG Construction LLC	0.2800 DF EXISTING CONCRETE, CU at of payment to remove and dispose of all exist Quantity: 200.0000 Quantity 200.0000 DF EXISTING CONCRETE	Usting Unit Price 16.970	Extended Amoun
Item: REMOVAL (Description: Measuremen Unit of LF Measure: FG Construction LLC Item: REMOVAL (Description: Measuremen Unit of SY	0.2800 DF EXISTING CONCRETE, CU at of payment to remove and dispose of all exist Quantity: 200.0000 Quantity 200.0000 DF EXISTING CONCRETE at of payment to remove and dispose of existing	Usting Unit Price 16.970	24,121.74 Extended Amoun 3,394.00 Extended Amoun

Item: TYPE B STABILIZATION

Description: Measurement for payment for furnishing and placing limerock

Unit of SY Measure:	Quantity: 986.2600		
	Quantity	Unit Price	Extended Amount
G Construction LLC	986.2600	5.900	5,818.93
tem: OPTIONAL	BASE, BASE GROUP 09		
Description: Measuremen	t for payment for furnishing and placing limero	ock	
Unit of SY Measure:	Quantity: 986.2600		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	986.2600	41.200	40,633.91
Item: MILLING EX	(ISTING ASPHALT PAVEMEN It for payment for mill of existing asphalt paver		
Item: MILLING EX			
Item: MILLING EX Description: Measuremen Unit of SY	t for payment for mill of existing asphalt paver		Extended Amount
tem: MILLING EX Description: Measuremen Unit of SY Measure:	It for payment for mill of existing asphalt paven Quantity: 117.7900	nen	
Description: Measuremen Unit of SY Measure:	It for payment for mill of existing asphalt paven Quantity: 117.7900 Quantity	nen Unit Price 26.760	
Item: MILLING EX Description: Measurement Unit of SY Measure: FG Construction LLC Item: SUPERPAV	t for payment for mill of existing asphalt paver Quantity: 117.7900 Quantity 117.7900	nen Unit Price 26.760	
Item: MILLING EX Description: Measuremen Unit of SY Measure: FG Construction LLC	t for payment for mill of existing asphalt paver Quantity: 117.7900 Quantity 117.7900 E ASPHALTIC CONC, TRAFF	nen Unit Price 26.760	
Item: MILLING EX Description: Measuremen Unit of SY Measure: FG Construction LLC Item: SUPERPAV Description: Measuremen Unit of TN	t for payment for mill of existing asphalt paver Quantity: 117.7900 Quantity 117.7900 E ASPHALTIC CONC, TRAFFI It for payment of superpave asphalt pavement	nen Unit Price 26.760	Extended Amount 3,152.06

Item: PLAIN CEMENT CONCRETE PAVEMENT,

Description: Measurement for payment for concrete sidewalk and concrete a

Unit of SY Measure:	Quantity: 986.2600		
	Quantity	Unit Price	Extended Amount
G Construction LLC	986.2600	60.900	60,063.23
Item: CONCRETE	SIDEWALK, 4" THICK		
Description: Measuremen	nt for payment for concrete sidewalk and concre	ete a	
Unit of SY Measure:	Quantity: 27.5556		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	27.5556	80.820	2,227.04
Item: MANHOLE,	ADJUST, UTILITIES Int for payment to adjust existing manholes, cate	ch b	
Item: MANHOLE,		ch b	
Item: MANHOLE, Description: Measuremen Unit of EA	nt for payment to adjust existing manholes, cat	ch b Unit Price	Extended Amount
Item: MANHOLE, Description: Measuremen Unit of EA	nt for payment to adjust existing manholes, cate Quantity: 5.0000		
Item: MANHOLE, Description: Measuremen Unit of EA Measure:	nt for payment to adjust existing manholes, cat Quantity: 5.0000 Quantity	Unit Price	
Item: MANHOLE, Description: Measuremen Unit of EA Measure: FG Construction LLC	nt for payment to adjust existing manholes, cate Quantity: 5.0000 Quantity 5.0000	Unit Price 1,890.030	Extended Amount 9,450.15
Item: MANHOLE, Description: Measuremen Unit of EA Measure: FG Construction LLC	At for payment to adjust existing manholes, cate Quantity: 5.0000 Quantity 5.0000 CURB & GUTTER, TYPE D	Unit Price 1,890.030	
Item: MANHOLE, Description: Measuremen Unit of EA Measure: FG Construction LLC Item: CONCRETE Description: Measuremen Unit of LF	At for payment to adjust existing manholes, cate Quantity: 5.0000 Quantity 5.0000 CURB & GUTTER, TYPE D At for payment for furnishing and installing cond	Unit Price 1,890.030	

Item: SINGLE POST SIGN, F&I GROUND MOU

Description: Measurement for payment to install pavement markings and/or

Unit of AS Measure:	Quantity: 3.0000		
	Quantity	Unit Price	Extended Amount
G Construction LLC	3.0000	624.100	1,872.30
tem: SINGLE PO	ST SIGN, F&I GROUND MOU	J	
Description: Measuremen	t for payment to install pavement markings an	nd/or	
Unit of AS Measure:	Quantity: 4.0000		
	Quantity	Unit Price	Extended Amount
-G Construction LLC	4.0000	2,048.800	8,195.20
Item: SINGLE PO	ST SIGN, REMOVE	/or p	
Item: SINGLE PO		/or p	
Item: SINGLE POS Description: Measuremen Unit of AS	t for payment to remove single post signs and,	/or p Unit Price	Extended Amount
tem: SINGLE POS Description: Measuremen Unit of AS Measure:	it for payment to remove single post signs and, Quantity: 5.0000		
Item: SINGLE POS Description: Measuremen Unit of AS Measure:	it for payment to remove single post signs and, Quantity: 5.0000 Quantity	Unit Price 25.220	
Item: SINGLE POS Description: Measuremen Unit of AS Measure: G Construction LLC	t for payment to remove single post signs and, Quantity: 5.0000 Quantity 5.0000	Unit Price 25.220	Extended Amoun 126.10
Item: SINGLE POS Description: Measuremen Unit of AS Measure: FG Construction LLC	t for payment to remove single post signs and, Quantity: 5.0000 Quantity 5.0000 ASTIC, STANDARD, WHITE,	Unit Price 25.220	
Item: SINGLE POS Description: Measuremen Unit of AS Measure: FG Construction LLC Item: THERMOPL Description: Measuremen Unit of LF	t for payment to remove single post signs and, Quantity: 5.0000 Quantity 5.0000 ASTIC, STANDARD, WHITE, It for payment to install pavement markings an	Unit Price 25.220	

Item: THERMOPLASTIC, STANDARD, WHITE,

Description: Measurement for payment to install pavement markings and/or

Unit of LF Measure:	Quantity: 62.0000		
	Quantity	Unit Price	Extended Amount
G Construction LLC	62.0000	3.780	234.36
Item: THERMOPL	ASTIC, STANDARD, WHITE,		
Description: Measuremen	nt for payment to install pavement markings an	d/or	
Unit of LF Measure:	Quantity: 100.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	100.0000	7.560	756.00
Item: THERMOPL	ASTIC, YELLOW, SOLID, 6" Int for payment to install pavement markings an	d/or	
Item: THERMOPL		d/or	
Item: THERMOPL Description: Measuremen Unit of LF	nt for payment to install pavement markings an Quantity: 600.0000		Extended Amount
Item: THERMOPL Description: Measuremen Unit of LF	nt for payment to install pavement markings an	d/or Unit Price 1.890	
Item: THERMOPL Description: Measuremen Unit of LF Measure: FG Construction LLC	nt for payment to install pavement markings an Quantity: 600.0000 Quantity	Unit Price	
Item: THERMOPL Description: Measuremen Unit of LF Measure: FG Construction LLC	nt for payment to install pavement markings an Quantity: 600.0000 Quantity 600.0000	Unit Price 1.890	Extended Amount 1,134.00
Item: THERMOPL Description: Measuremen Unit of LF Measure: FG Construction LLC	nt for payment to install pavement markings an Quantity: 600.0000 Quantity 600.0000 ASTIC, YELLOW, SOLID, 6"	Unit Price 1.890	
Item: THERMOPL Description: Measuremen Unit of LF Measure: FG Construction LLC Item: THERMOPL Description: Measuremen Unit of LF	At for payment to install pavement markings an Quantity: 600.0000 Quantity 600.0000 ASTIC, YELLOW, SOLID, 6" At for payment to install pavement markings an	Unit Price 1.890	

Item: GREEN COLORED PAVEMENT MARKINGS,

Description: Measurement for payment to install pavement markings and/or

Page 6

Unit of SF Measure:	Quantity: 640.0000		
	Quantity	Unit Price	Extended Amount
G Construction LLC	640.0000	15.760	10,086.40
tem: THERMOPL	ASTIC, STANDARD, WHITE,		
Description: Measuremen	nt for payment to install pavement markings an	id/or	
Unit of EA Measure:	Quantity: 8.0000		
	Quantity	Unit Price	Extended Amount
G Construction LLC	8.0000	587.530	4,700.24
	ASTIC, STANDARD, WHITE, at for payment to install pavement markings an		
Description: Measuremen Unit of EA	nt for payment to install pavement markings an Quantity: 8.0000		Extended Amount
Description: Measuremen Unit of EA	nt for payment to install pavement markings an	ıd/or	
Description: Measuremen Unit of EA Measure:	nt for payment to install pavement markings an Quantity: 8.0000 Quantity	ud/or Unit Price 587.530	
Description: Measuremen Unit of EA Measure: FG Construction LLC Item: TRASH AND	nt for payment to install pavement markings an Quantity: 8.0000 Quantity 8.0000	ud/or Unit Price 587.530	Extended Amount 4,700.24
Description: Measuremen Unit of EA Measure: FG Construction LLC Item: TRASH AND	nt for payment to install pavement markings an Quantity: 8.0000 Quantity 8.0000 D RECYCLE RECEPTACLE DU	ud/or Unit Price 587.530	
Description: Measuremen Unit of EA Measure: FG Construction LLC Item: TRASH ANI Description: Measuremen Unit of EA	nt for payment to install pavement markings an Quantity: 8.0000 Quantity 8.0000 DRECYCLE RECEPTACLE DU Int for installation of site furnishings will be bas	ud/or Unit Price 587.530	

Item: 4 PERSON BENCH DUMAR INC.

Description: Measurement for installation of site furnishings will be bas

Unit of EA Measure:	Quantity: 5.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	5.0000	4,729.390	23,646.95
Item: BIKE RACK	DERO HOOP RACK		
Description: Measurement	t for installation of site furnishings will be bas		
Unit of EA Measure:	Quantity: 2.0000		
	Quantity	Unit Price	Extended Amount
	2.0000	2,793.730	5,587.46
Description: Measurement	RGLASS PLANTER	2,755.750	
Item: 5' X 3' FIBE	RGLASS PLANTER		
Item: 5' X 3' FIBE Description: Measurement Unit of EA	RGLASS PLANTER	Unit Price	
Item: 5' X 3' FIBE Description: Measurement Unit of EA Measure:	RGLASS PLANTER t for installation of site furnishings will be bas Quantity: 8.0000		Extended Amount
Item: 5' X 3' FIBE Description: Measurement Unit of EA Measure: FG Construction LLC	RGLASS PLANTER t for installation of site furnishings will be bas Quantity: 8.0000 Quantity	Unit Price	Extended Amount
Item: 5' X 3' FIBE Description: Measurement Unit of EA Measure: FG Construction LLC Item: 48" AMERIS	RGLASS PLANTER t for installation of site furnishings will be bas Quantity: 8.0000 Quantity 8.0000	Unit Price	Extended Amount
Item: 5' X 3' FIBE Description: Measurement Unit of EA Measure: FG Construction LLC Item: 48" AMERIS	RGLASS PLANTER t for installation of site furnishings will be bas Quantity: 8.0000 Quantity 8.0000 STAR ALUMINUM FENCE	Unit Price	Extended Amount 28,693.52
Item: 5' X 3' FIBE Description: Measurement Unit of EA Measure: FG Construction LLC Item: 48" AMERIS Description: Measurement Unit of LF	RGLASS PLANTER t for installation of site furnishings will be bas Quantity: 8.0000 Quantity 8.0000 STAR ALUMINUM FENCE	Unit Price	Extended Amount

Description: Measurement for payment to furnish and install trees, sod, g

Unit of EA Measure:	Quantity: 16.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	16.0000	661.920	10,590.72
Item: CLUSIA RO	SEA TREE		
Description: Measuremen	t for payment to furnish and install trees, sod, g	g	
Unit of EA Measure:	Quantity: 8.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	8.0000	876.260	7,010.08
Item: GOLDEN CF	REEPER It for payment to furnish and install trees, sod, g	g	
Item: GOLDEN CF		g	
Item: GOLDEN CF Description: Measuremen Unit of EA	it for payment to furnish and install trees, sod, o Quantity: 32.0000	g Unit Price	Extended Amount
Item: GOLDEN CF Description: Measuremen Unit of EA	t for payment to furnish and install trees, sod, o	_	Extended Amount 685.76
Item: GOLDEN CF Description: Measuremen Unit of EA Measure:	ut for payment to furnish and install trees, sod, o Quantity: 32.0000 Quantity 32.0000	Unit Price	
Item: GOLDEN CF Description: Measuremen Unit of EA Measure: FG Construction LLC	ut for payment to furnish and install trees, sod, o Quantity: 32.0000 Quantity 32.0000	Unit Price 21.430	
Item: GOLDEN CF Description: Measuremen Unit of EA Measure: FG Construction LLC	t for payment to furnish and install trees, sod, o Quantity: 32.0000 Quantity 32.0000 KAHATCHEE	Unit Price 21.430	
Item: GOLDEN CF Description: Measuremen Unit of EA Measure: FG Construction LLC Item: DWARF FAI Description: Measuremen Unit of EA	t for payment to furnish and install trees, sod, o Quantity: 32.0000 Quantity 32.0000 KAHATCHEE	Unit Price 21.430	

Item: 36" TALL BOLLARD

Description: Measurement for payment to furnish and install trees, sod, g

Unit of EA Measure:	Quantity: 4.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	4.0000	2,346.530	9,386.12
Item: IRRIGATION	N SYSTEM		
Description: Measuremen	t for payment to furnish and install irrigation s	Sy	
Unit of LS Measure:	Quantity: 1.0000		
		Unit Price	Extended Amount
	Quantity	onicritice	Excended Amount
Description: Measuremen	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site light	65,138.020	
ltem: CONDUIT, F	1.0000 FURNISH & INSTALL, OPEN	65,138.020	
Item: CONDUIT, F Description: Measuremen Unit of LF	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site light	65,138.020	65,138.02
Item: CONDUIT, F Description: Measuremen Unit of LF Measure:	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site ligh Quantity: 900.0000	65,138.020	65,138.02 Extended Amoun
Item: CONDUIT, F Description: Measuremen Unit of LF Measure:	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site ligh Quantity: 900.0000 Quantity	65,138.020	65,138.02 Extended Amoun
Item: CONDUIT, F Description: Measuremen Unit of LF Measure: FG Construction LLC	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site ligh Quantity: 900.0000 Quantity 900.0000	65,138.020	Extended Amount 20,421.00
Item: CONDUIT, F Description: Measuremen Unit of LF Measure: FG Construction LLC	1.0000 FURNISH & INSTALL, OPEN It for payment to furnish and install all site light Quantity: 900.0000 Quantity 900.0000 LICE BOX, F&I, 13" X 24	65,138.020	65,138.02 Extended Amount
Item: CONDUIT, F Description: Measuremen Unit of LF Measure: G Construction LLC Item: PULL & SPL Description: Measuremen Unit of EA	1.0000 FURNISH & INSTALL, OPEN t for payment to furnish and install all site ligh Quantity: 900.0000 Quantity 900.0000 LICE BOX, F&I, 13'' X 24 t for payment to furnish and install all site ligh	65,138.020	65,138.02 Extended Amount

Description: Measurement for payment to furnish and install all site ligh

CAM #24-1126 Exhibit 2 Page 10 of 11

Unit of LF Measure:	Quantity: 3,000.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	3,000.0000	5.300	15,900.00
Item: LIGHT POL	E COMPLETE, FURNISH & I		
Description: Measureme	nt for payment to furnish and install all site ligh		
Unit of EA Measure:	Quantity: 11.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	11.0000	19,668.460	216,353.06
Item: LOAD CEN	TER, F&I, SECONDARY VOLT		
Description: Measureme	nt for payment to furnish and install all site ligh		
Unit of EA Measure:	Quantity: 1.0000		
	Quantity	Unit Price	Extended Amount
FG Construction LLC	1.0000	28,367.970	28,367.97